Fort Bend County Tabulation Bid 16-041

Construction of Traffic Signalization to Serve the Intersection of South Mason Road at Delta Lake Drive

Awarded 1/12/16: Traf-Tex, Inc. \$232,530.38 Funding: Road and Bridge

Company	Bid Price	Completion Time in Calendar Days	Form 1295 Acknowledged
Traf-Tex, Inc. Houston	\$232,530.38	150	yes
Southwest Signal Supply South Houston	\$301,944.00	150	
Statewide Traffice Signal Houston	\$320,361.30	150	
Relianble Signal & Lighting Pearland	Disqualified: P	rovided expired proof of i	nsurance.
Traffic Systems Construction Dickinson	Disqualified: Fa	ailed to provide proof of i	nsurance.

BID TABLUATION

Project Name: Plans for Construction of Traffic Signalization to Serve the Intersection of S. Mason Road @ Delta Lake Drive

BID #: 16-041 Commissioners' Court Date to Advertise: 11/24/15

Bid Opening Date: 12/17/15

Consultant: MBCO Engineering, LLC

Low Bidder

					Engineer's Estimate		Traf-	Гех, Inc.	Southwest Signal Supply, Inc.		Statewide Traffic Signal Co.		Avg of Three	Low Bidders
					Bid Total =	\$207,938.26	Bid Total =	\$232,530.38	Bid Total =	\$301,944.00	Bid Total =	\$320,361.30	Bid Total =	\$279,079.64
BID ITEM NO	SPEC ITEM NO	DESCRIPTION	UNIT	QUANTIY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SECTION 1 - SITE PREPARATION AND EARTHWORK													
1	1502	Mobilization	LS	1.00	\$16,000.00	\$16,000.00	\$13,595.00	\$13,595.00	\$6,500.00	\$6,500.00	\$31,000.00	\$31,000.00	\$17,031.67	\$17,031.67
2		Preparing the ROW	LS	1.00	\$5,000.00	\$5,000.00	\$4,400.00	\$4,400.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00	\$2,000.00	\$2,000.00
3	2221	Removing Old Concrete (Sidewalk)	SY	28.00	\$9.43	\$264.04	\$55.00	\$1,540.00	\$65.00	\$1,820.00	\$42.00	\$1,176.00	\$54.00	\$1,512.00
4	2221	Removing Old Concrete (Curb Ramp)	SY	24.00	\$30.00	\$720.00	\$44.00	\$1,056.00	\$65.00	\$1,560.00	\$52.00	\$1,248.00	\$53.67	\$1,288.00
5	2221	Removing Old Concrete (Curb)	LF	90.00	\$5.50	\$495.00	\$11.00	\$990.00	\$5.50	\$495.00	\$62.00	\$5,580.00	\$26.17	\$2,355.00
SUBTO	TAL SECTIO	ON 1 - SITE PREPARATION AND EARTHWORK (Bid Items 1 - 5):				\$22,479.04		\$21,581.00		\$11,875.00		\$39,104.00		\$24,186.67
SECTIO	ON 2 - PAVIN	G												
6	2751	Furnish and Install Concrete Pavement (10")	SY	16.00	\$52.00	\$832.00	\$220.00	\$3,520.00	\$195.00	\$3,120.00	\$773.00	\$12,368.00	\$396.00	\$6,336.00
7	2761	Furnish and Install Concrete Pavement (6") (Black Dye)	SY	13.00	\$36.00	\$468.00	\$110.00	\$1,430.00	\$295.00	\$3,835.00	\$210.00	\$2,730.00	\$205.00	\$2,665.00
8	2771	Furnish and Install Reinforced Concrete Curb (6")	LF	31.00	\$2.00	\$62.00	\$22.00	\$682.00	\$27.00	\$837.00	\$62.00	\$1,922.00	\$37.00	\$1,147.00
9	2775	Furnish and Install Curb Ramp	SY	300.00	\$27.00	\$8,100.00	\$44.00	\$13,200.00	\$25.00	\$7,500.00	\$73.00	\$21,900.00	\$47.33	\$14,200.00
10	2775	Furnish and Install Reinforced Concrete Sidewalks (4-1/2")	SY	206.00	\$4.75	\$978.50	\$22.00	\$4,532.00	\$14.00	\$2,884.00	\$73.00	\$15,038.00	\$36.33	\$7,484.67
11	2336	Hydrated Lime (Slurry) or Commercial Lime Slurry	TON	0.50	\$140.00	\$70.00	\$550.00	\$275.00	\$1,100.00	\$550.00	\$10.00	\$5.00	\$553.33	\$276.67
12	2336	Lime Stablized Subgrade	SY	29.00	\$3.50	\$101.50	\$110.00	\$3,190.00	\$47.00	\$1,363.00	\$1.00	\$29.00	\$52.67	\$1,527.33
SUBTO	TAL SECTIO	DN 2 - PAVING (Bid Items 6 - 12):				\$10,612.00		\$26,829.00		\$20,089.00		\$53,992.00		\$33,636.67
SECTIO	ON 3 - TRAFF	FIC SIGNAL												
13	2465	Furnish And Install Drill Shaft (Trf Sig Pole)(30 IN)	VF	48.00	\$250.00	\$12,000.00	\$160.00	\$7,680.00	\$280.00	\$13,440.00	\$255.00	\$12,240.00	\$231.67	\$11,120.00
14	2465	Furnish And Install Drill Shaft (Ped Pole)(24 IN)	VF	6.00	\$200.00	\$1,200.00	\$125.00	\$750.00	\$280.00	\$1,680.00	\$150.00	\$900.00	\$185.00	\$1,110.00
15	16711	Furnish And Install Conduit(Pvc)(Schd 80)(2")	LF	1,045.00	\$6.50	\$6,792.50	\$7.00	\$7,315.00	\$7.50	\$7,837.50	\$20.00	\$20,900.00	\$11.50	\$12,017.50
16	16711	Furnish And Install Conduit(Pvc)(Schd 80)(2")(Bore)	LF	377.00	\$12.00	\$4,524.00	\$11.80	\$4,448.60	\$12.00	\$4,524.00	\$25.00	\$9,425.00	\$16.27	\$6,132.53
17	16711	Furnish And Install Conduit(Pvc)(Schd 80)(3")	LF	100.00	\$10.61	\$1,061.00	\$7.75	\$775.00	\$15.00	\$1,500.00	\$25.00	\$2,500.00	\$15.92	\$1,591.67
18	16720	Furnish And Install Elec Condr (No. 4) Insulated	LF	300.00	\$1.69	\$507.00	\$2.00	\$600.00	\$1.50	\$450.00	\$3.00	\$900.00	\$2.17	\$650.00
19	16720	Furnish And Install Elec Condr (N0. 8) Bare	LF	210.00	\$1.20	\$252.00	\$1.10	\$231.00	\$1.10	\$231.00	\$2.00	\$420.00	\$1.40	\$294.00
20	16720	Furnish And Install 2/C #10 Xhhw Luminaire Wiring	LF	855.00	\$2.00	\$1,710.00	\$1.20	\$1,026.00	\$2.00	\$1,710.00	\$3.00	\$2,565.00	\$2.07	\$1,767.00
21	16720	Furnish And Install 2/C #14 Shielded	LF	950.00	\$0.90	\$855.00	\$1.10	\$1,045.00	\$1.50	\$1,425.00	\$5.00	\$4,750.00	\$2.53	\$2,406.67
22	16720	Furnish And Install 2/C #14 Xhhw (Strand)	LF	1,830.00	\$0.90	\$1,647.00	\$0.60	\$1,098.00	\$1.50	\$2,745.00	\$5.00	\$9,150.00	\$2.37	\$4,331.00
23	16710	Furnish And Install Ground Box Ty A - W/Apron	EA	8.00	\$734.00	\$5,872.00	\$570.00	\$4,560.00	\$750.00	\$6,000.00	\$900.00	\$7,200.00	\$740.00	\$5,920.00
24	16710	Furnish And Install Ground Box Ty B - W/Apron	EA	6.00	\$830.00	\$4,980.00	\$660.00	\$3,960.00	\$1,050.00	\$6,300.00	\$1,200.00	\$7,200.00	\$970.00	
25	16710	Furnish And Install Ground Box Ty C - W/Apron	EA	1.00	\$920.00	\$920.00	\$875.00	\$875.00	\$1,250.00	\$1,250.00	\$1,600.00	\$1,600.00	\$1,241.67	\$1,241.67
26	16710	Furnish And Install Elec Srv Ty D 120 / 240 070 (NS) SS (E) SP (O)	EA	1.00	\$3,831.00	\$3,831.00	\$3,390.00	\$3,390.00	\$4,200.00	\$4,200.00	\$4,000.00	\$4,000.00	\$3,863.33	\$3,863.33
27	2893	Furnish And Install Hwy Traf Sig (Isolated)	EA	1.00	\$43,000.00	\$43,000.00	\$14,215.00	\$14,215.00	\$70,983.65	\$70,983.65	\$10,000.00	\$10,000.00	\$31,732.88	\$31,732.88
28	16730**	Furnish And Install Its Controller Cabinet Assembly, Full Traf Actuated, Ethernet, Coordination Installed, Base Mounted Hybrid "S" Cabinet	EA	1.00	\$0.00	\$0.00	\$16,615.00	\$16,615.00	\$16,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$16,205.00	\$16,205.00

BID TABLUATION

Project Name: Plans for Construction of Traffic Signalization to Serve the Intersection of S. Mason Road @ Delta Lake Drive

BID #: 16-041 Commissioners' Court Date to Advertise: 11/24/15

Bid Opening Date: 12/17/15

Consultant: MBCO Engineering, LLC

Low Bidder

					Engineer's Estimate		Traf-Tex, Inc.		Southwest Signal Supply, Inc.		Statewide Traffic Signal Co.		Avg of Three Low Bidders	
					Bid Total =	\$207,938.26	Bid Total =	\$232,530.38	Bid Total =	\$301,944.00	Bid Total =	\$320,361.30	Bid Total =	\$279,079.64
BID ITEM NO	SPEC ITEM NO	DESCRIPTION	UNIT	QUANTIY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
29	16730**	Furnish And Install Controller Foundation, Hybrid "S" Ts-2 Cabinet	EA	1.00	\$0.00	\$0.00	\$1,452.00	\$1,452.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$2,650.67	\$2,650.67
30	16731**	Furnish And Install Model 2070 Controller Unit	EA	1.00	\$0.00	\$0.00	\$4,135.00	\$4,135.00	\$3,200.00	\$3,200.00	\$4,000.00	\$4,000.00	\$3,778.33	\$3,778.33
31	**	Furnish And Install Auxillary Disconnect And P.E. Load Center	EA	1.00	\$0.00	\$0.00	\$2,290.00	\$2,290.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$2,763.33	\$2,763.33
32	16750**	Furnish And Install Sign, "Pedestrian Push Button" (Symbol Type) (9" X 12") (R10-3Er)	EA	8.00	\$0.00	\$0.00	\$77.00	\$616.00	\$150.00	\$1,200.00	\$30.00	\$240.00	\$85.67	\$685.33
33	1554**	Furnish And Install Sign, "S Mason Rd"	EA	2.00	\$0.00	\$0.00	\$728.00	\$1,456.00	\$600.00	\$1,200.00	\$600.00	\$1,200.00	\$642.67	\$1,285.33
34	1554**	Furnish And Install Sign, "Delta Lake Dr"	EA	2.00	\$0.00	\$0.00	\$728.00	\$1,456.00	\$600.00	\$1,200.00	\$600.00	\$1,200.00	\$642.67	\$1,285.33
35	1554**	Furnish And Install Sign, "Left Turn Yield On Flashing Yellow Arrow" (24" X 30")	EA	2.00	\$0.00	\$0.00	\$395.00	\$790.00	\$300.00	\$600.00	\$300.00	\$600.00	\$331.67	\$663.33
36	16720**	Furnish And Install Traf Sig Cbl (Ty A) (20 Awg) (3 Condr)	LF	927.00	\$0.00	\$0.00	\$1.00	\$927.00	\$1.00	\$927.00	\$1.50	\$1,390.50	\$331.07	\$1,081.50
					-		·		·	-				
37	16724**	Furnish And Install Erms, Opticom System Phase Selector (4 Phase) (3M 754) Furnish And Install Uninterruptible Power Supply(Ups) System For Traffic Signal	EA	4.00	\$0.00	\$0.00	\$2,300.00	\$9,200.00	\$2,000.00	\$8,000.00	\$2,500.00	\$10,000.00	\$2,266.67	\$9,066.67
38	16732**	Cabinets	EA	1.00	\$0.00	\$0.00	\$8,785.00	\$8,785.00	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00	\$6,761.67	\$6,761.67
39	**	Furnish And Install Rod, 5/8" X 10' Copper Ground (Controller Only)	EA	1.00	\$0.00	\$0.00	\$61.75	\$61.75	\$25.00	\$25.00	\$50.00	\$50.00	\$45.58	
40	**	Furnish And Install Detector Card Rack Slot	EA	1.00	\$0.00	\$0.00	\$180.00	\$180.00	\$1.00	\$1.00	\$400.00	\$400.00	\$193.67	\$193.67
41	16738**	Furnish And Install 5.8 Ghz Ethernet Radio & Antenna	EA	1.00	\$0.00	\$0.00	\$3,135.00	\$3,135.00	\$2,600.00	\$2,600.00	\$4,000.00	\$4,000.00	\$3,245.00	\$3,245.00
42	16738**	WI-Fi - Shieled Dual RG-59	LF	100.00	\$0.00	\$0.00	\$5.00	\$500.00	\$2.00	\$200.00	\$5.00	\$500.00	\$4.00	\$400.00
43	2582**	Furnish And Install 10' Luminaire Arms W/ LED Luminaires (G.E.)	EA	4.00	\$0.00	\$0.00	\$1,410.00	\$5,640.00	\$1,500.00	\$6,000.00	\$1,300.00	\$5,200.00	\$1,403.33	\$5,613.33
44	16715	Furnish And Install Back Plate (12 In) (3 Sec)	EA	8.00	\$70.00	\$560.00	\$127.00	\$1,016.00	\$100.00	\$800.00	\$60.00	\$480.00	\$95.67	\$765.33
45	16715	Furnish And Install Back Plate (12 In) (4 Sec)	EA	2.00	\$75.00	\$150.00	\$150.00	\$300.00	\$150.00	\$300.00	\$80.00	\$160.00	\$126.67	\$253.33
46	16715	Furnish And Install Veh Sig Sec (12 In) (LED) (Grn Arw)	EA	2.00	\$170.00	\$340.00	\$190.00	\$380.00	\$175.00	\$350.00	\$180.00	\$360.00	\$181.67	\$363.33
47	16715	Furnish And Install Veh Sig Sec (12 In) LED (Grn)	EA	8.00	\$160.00	\$1,280.00	\$190.00	\$1,520.00	\$175.00	\$1,400.00	\$180.00	\$1,440.00	\$181.67	\$1,453.33
48	16715	Furnish And Install Veh Sig Sec (12 In) LED (Yel Arw)	EA	4.00	\$180.00	\$720.00	\$190.00	\$760.00	\$175.00	\$700.00	\$180.00	\$720.00	\$181.67	\$726.67
49	16715	Furnish And Install Veh Sig Sec (12 In) LED (Yel)	EA	8.00	\$180.00	\$1,440.00	\$190.00	\$1,520.00	\$175.00	\$1,400.00	\$180.00	\$1,440.00	\$181.67	\$1,453.33
50	16715	Furnish And Install Veh Sig Sec (12 In) LED (Red Arw)	EA	2.00	\$180.00	\$360.00	\$190.00	\$380.00	\$175.00	\$350.00	\$180.00	\$360.00	\$181.67	\$363.33
51	16715	Furnish And Install Veh Sig Sec (12 In) LED (Red)	EA	8.00	\$180.00	\$1,440.00	\$190.00	\$1,520.00	\$175.00	\$1,400.00	\$180.00	\$1,440.00	\$181.67	\$1,453.33
52	16720	Furnish And Install Traf Sig Cbl (Ty A) (12 Awg) (2 Condr)	LF	1,337.00	\$1.00	\$1,337.00	\$1.10	\$1,470.70	\$1.40	\$1,871.80	\$1.10	\$1,470.70	\$1.20	\$1,604.40
53	16720	Furnish And Install Traf Sig Cbl (Ty A) (12 Awg) (4 Condr)	LF	1,373.00	\$1.53	\$2,100.69	\$1.50	\$2,059.50	\$1.55	\$2,128.15	\$1.50	\$2,059.50	\$1.52	\$2,082.38
54	16720	Furnish And Install Traf Sig Cbl (Ty A) (12 Awg) (7 Condr)	LF	1,281.00	\$1.87	\$2,395.47	\$2.00	\$2,562.00	\$2.00	\$2,562.00	\$2.10	\$2,690.10	\$2.03	\$2,604.70
55	2582	Furnish And Ins Traf Sig PI Am (S) 1 Arm (35')	EA	2.00	\$4,800.00	\$9,600.00	\$5,535.00	\$11,070.00	\$6,500.00	\$13,000.00	\$6,000.00	\$12,000.00	\$6,011.67	\$12,023.33
56	2582	Furnish And Ins Traf Sig PI Am (S) 1 Arm (55')	EA	2.00	\$14,000.00	\$28,000.00	\$9,400.00	\$18,800.00	\$9,200.00	\$18,400.00	\$9,000.00	\$18,000.00	\$9,200.00	\$18,400.00
57	16739	Furnish And Install Bluetooth With Laptop In Cabinet Per FBC Specification	EA	1.00	\$3,000.00	\$3,000.00	\$8,065.00	\$8,065.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$6,855.00	\$6,855.00
58	16716	Furnish And Install Led Countdown Pedestrian Module (9" Numbers)	EA	8.00	\$470.00	\$3,760.00	\$450.00	\$3,600.00	\$450.00	\$3,600.00	\$450.00	\$3,600.00	\$450.00	\$3,600.00
59	16750	Furnish And Install Accessible Pedestrian Signal Units (Audible)	EA	8.00	\$400.00	\$3,200.00	\$1,115.00	\$8,920.00	\$1,050.00	\$8,400.00	\$900.00	\$7,200.00	\$1,021.67	\$8,173.33
SUBTOTAL SECTION 3 - TRAFFIC SIGNAL (Bid Items 13 - 59):						\$148,834.66		\$173,150.55		\$235,091.10		\$215,450.80		\$202,031.90

BID TABLUATION

Project Name: Plans for Construction of Traffic Signalization to Serve the Intersection of S. Mason Road @ Delta Lake Drive

BID #: 16-041 Commissioners' Court Date to Advertise: 11/24/15

Bid Opening Date: 12/17/15

Consultant: MBCO Engineering, LLC

Low Bidder

					Engineer's Estimate		Traf-Tex, Inc.		Southwest Signal Supply, Inc.		Statewide Traffic Signal Co.		Avg of Three	Low Bidders
					Bid Total =	\$207,938.26	Bid Total =	\$232,530.38	Bid Total =	\$301,944.00	Bid Total =	\$320,361.30	Bid Total =	\$279,079.64
BID ITEM NO	SPEC ITEM NO	DESCRIPTION	UNIT	QUANTIY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SECTIO	N 4 - SIGNIN	G AND PAVEMENT MARKINGS												
60	1554	Furnish And Ins Sm Rd Sd Sup&Am Ty 10 Bwg(1)Sa(T) "Delta Lake Dr, Next Signal"	EA	2.00	\$450.00	\$900.00	\$790.00	\$1,580.00	\$825.00	\$1,650.00	\$700.00	\$1,400.00	\$771.67	\$1,543.33
61	1554	Remove Sm Rd Sn Sup&Am	EA	2.00	\$110.00	\$220.00	\$95.00	\$190.00	\$500.00	\$1,000.00	\$50.00	\$100.00	\$215.00	\$430.00
62	2767	Furnish And Install Thermoplastic Pav Mrk Ty 1 (W)(6")(Sld)(100 Mil)	LF	200.00	\$0.45	\$90.00	\$0.95	\$190.00	\$0.90	\$180.00	\$0.70	\$140.00	\$0.85	\$170.00
63	2767	Furnish And Install Thermoplastic Pav Mrk Ty 1 (W)(24")(Sld)(100 Mil)	LF	793.00	\$6.60	\$5,233.80	\$4.25	\$3,370.25	\$6.50	\$5,154.50	\$5.20	\$4,123.60	\$5.32	\$4,216.12
64	2767	Furnish And Install Thermoplastic Pav Mrk Ty 1 (W)(Arrow)(100 Mil)	EA	2.00	\$200.00	\$400.00	\$131.00	\$262.00	\$165.00	\$330.00	\$130.00	\$260.00	\$142.00	\$284.00
65	2767	Furnish And Install Thermoplastic Pav Mrk Ty 1 (W)(Word)(100 Mil)	EA	2.00	\$200.00	\$400.00	\$158.00	\$316.00	\$195.00	\$390.00	\$130.00	\$260.00	\$161.00	\$322.00
66	2767	Furnish And Install Pavement Sealer 6"	LF	200.00	\$0.17	\$34.00	\$0.33	\$66.00	\$0.40	\$80.00	\$0.10	\$20.00	\$0.28	\$55.33
67	2767	Furnish And Install Pavement Sealer 24"	LF	793.00	\$2.52	\$1,998.36	\$2.10	\$1,665.30	\$2.60	\$2,061.80	\$0.30	\$237.90	\$1.67	\$1,321.67
68	2767	Furnish And Install Pavement Sealer (Arrow)	EA	2.00	\$75.00	\$150.00	\$21.00	\$42.00	\$26.00	\$52.00	\$12.00	\$24.00	\$19.67	\$39.33
69	2767	Furnish And Install Pavement Sealer (Word)	EA	2.00	\$100.00	\$200.00	\$26.00	\$52.00	\$32.50	\$65.00	\$12.00	\$24.00	\$23.50	\$47.00
70	2767	Furnish And Install Refl Pav Makr Ty II C-R	EA	10.00	\$4.50	\$45.00	\$4.20	\$42.00	\$7.80	\$78.00	\$5.00	\$50.00	\$5.67	\$56.67
71	2767	Elim Ext Pav Mrk & Mrks (4")	LF	440.00	\$0.44	\$193.60	\$0.33	\$145.20	\$0.40	\$176.00	\$0.30	\$132.00	\$0.34	\$151.07
72	2767	Elim Ext Pav Mrk & Mrks (8")	LF	212.00	\$0.87	\$184.44	\$0.64	\$135.68	\$0.80	\$169.60	\$0.55	\$116.60	\$0.66	\$140.63
73	2767	Elim Ext Pav Mrk & Mrks (24")	LF	24.00	\$2.89	\$69.36	\$1.85	\$44.40	\$3.25	\$78.00	\$1.10	\$26.40	\$2.07	\$49.60
74	2767	Elim Ext Pav Mrk & Mrks (Arrow)	LF	2.00	\$37.00	\$74.00	\$36.00	\$72.00	\$46.00	\$92.00	\$50.00	\$100.00	\$44.00	\$88.00
75	2767	Elim Ext Pav Mrk & Mrks (Word)	LF	2.00	\$38.00	\$76.00	\$42.00	\$84.00	\$46.00	\$92.00	\$50.00	\$100.00	\$46.00	\$92.00
SUBTO	TAL SECTIO	N 4 - SIGNING AND PAVEMENT MARKINGS (Bid Items 60 - 75):			\$0.00	\$10,268.56		\$8,256.83		\$11,648.90		\$7,114.50		\$9,006.74
SECTIO	N 5 - TRAFF	IC CONTROL PLAN	_											
76	671	Traffic Control - Barriers, Barricades, Barrels, Cones, Signing and Work Zone Pavement Markings	MO	3.00	\$5,242.00	\$15,726.00	\$875.00	\$2,625.00	\$7,500.00	\$22,500.00	\$1,500.00	\$4,500.00	\$3,291.67	\$9,875.00
	SUBTOTAL SECTION 5 - TRAFFIC CONTROL PLAN (Bid Items 76 - 76):				\$0.00	\$15,726.00	,	\$2,625.00	, ,	\$22,500.00	, , , , , , , , , , , ,	\$4,500.00	, , , , ,	\$9,875.00
SECTIO	SECTION 6 - STORM WATER POLLUTION PREVENTION PLAN					-		•						·
77	2922	Furnish Sodding (16" Wide Block Sod Behind Curb)	SY	4.00	\$4.50	\$18.00	\$22.00	\$88.00	\$185.00	\$740.00	\$50.00	\$200.00	\$85.67	\$342.67
SUBTO	TAL SECTIO	N 6 - STORM WATER POLLUTION PREVENTION PLAN (Bid Items 77 - 77):			\$0.00	\$18.00		\$88.00		\$740.00		\$200.00		\$342.67